Name, KQ.\A Desmond - Period 9

Directions: QHOW ALL WORK-NO WORK, NO t‘.‘litEDITJ Work independently: Mrs. Lewis will give
you a zero if you work with others on this assignment.

1. Find the<peasure of ZAOB in each of the followmg diagrams,
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2. Two supplementary angles are in the ratio of 7:5. Find the value of the larger angle.

_“’1
Ty +5x =180 2(s) ={ 5|
I J\)L - |©0
AV
3. Which of the following sets of side lengths could represent a right triangle? (Circle all that
apply). -
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4. What is the length of the line between the points (2,-4)and (13, 12)?
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5. What is the center and radius of a circle whose equationis (x —12)*+ (v +5)2=97?
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6. What is the equation of the circle below?
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7. Find the midpoint of the line AB when A(2a+4, 3b-2) and B(4a+4, b-6).
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8. What is the slope of a line perpendicular to the line whose equation is -_ﬁ/: __§ X+ 87
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9. If A(25)is an endpoint of line AB and M(6, 1) is the midpoint, find the coordinates of B, the
other endpoint.
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10. The two lines 2y =4x+4 andy +2x=-4are L\y\. R
a. Perpendicular b. parallel @ neither  d. the same line. .
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11. What is the equation of a line parattel to the line -4y = 1x + 8 and through the point (8, -5)
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12. On the set of axes, solve the following system of
equations graphically for all vaiues of x and y
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In ADAB, m/D=x, mZDAB = 5x —-30, and mes DBA = 3x~60. In AABC, AB=6y-8and BC=4y-2. [Only

algebraic solutions can receive full credit.]
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¢ Find the length of DC.



